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e1e8e gud/ipsslun’ Note :
(1) Bog @ gyaEmEed BEnd; wovsm.

(ii) 1-40 em=? yedwdE (1),(2), (3), 1) BEnHOES BT ovl Dot vgoum eul BE8T emidh vin.

(ili) 280 swesx BEao vyed o o gdne wg & §iB @O eneds! 88 emis ol BE9eld gomad BEHETH

(iv) @ BEnd cnped Bfoe € 418 ged coeetd ¢ eBEc0 oo,

slevsoT ellaTb&sEnbemD allen HHb.
Answer all questions.

1opmed 40 susmpujeiisn geubioursy ellemalsnn (1), (2),(3), (@) a6 sesdemlrn L sfeo mefsh sflwmeng
SisbsoBl sl CQUTMBSIOTMGH T FrIEeT SmESId @ almLamuls GoflaFus.

From each of the questions 1 to 40, pick one of the altematives (1}, (2}, (3), (4) which you consider
is correct or most appropriate.

@i pe (X) cren ecgxsim.
2 1wdheG alpmsi BGsten oL Ssrans @abeurm olamad@gn 2 flu e Lmseaisd z-_wgl

allemulelr Bevbshens @bD ulLSHHgueGen Lsismgani (X) @Gas
Mark a cross (X) on the number corresponding to your choice in the answer sheet provided.

el g meriler L frdbe 5als0 - SILu Galer wHmmw e HHa0aEmsTUID SIS, allddhdn HaBamL
et .
Further instructions are given on the back of the answer sheet. Follow them carefully.

1.

eolie dmm molics ofert vun egwst S8 e ¢?

GOTIL @EEflall Lemiims Sieniosugl | NefienhelereuBe sTE?

Which of the following is the function of a sharp?
(1) Itraises anote by a tone. (2) It lowers a raised note by a semitone.
(3) Itlowers a note by a semitone. (4) ltraises a note by a semitone.

& i nda el BIRD ¢das ©0ud tn sun Bgzd SDiEs o ¢?
SIOUCfBeften uny snan't Al UGSSMEDES CHsnemuner Gratl Uaamaameibrer erE?
Which of the following rest is needed to complete the given bar?

2 *
wo S T,
(1) Dotted Quaver rest (2) Demi Semi Quaver rest
(3) Hemi Demi Semi Quaver rest (4)  Semi Quaver rest

€ @15 Aol 8220 ey 088 Bdewitds Sxies’ vwn I8 e ¢?
SIUUL Baiten uny @il Gurgpdsoren b FEGardFy Lsienonsnauime sgi?
Which of the following time signatures will be the correct one to the given bar?

# : —3—
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979 Budem et emdd 30 omdn 088 Sdesitded Feddl ol So Bed ¢?
LTy efle QLT Ll @8mmésm e mrede eopb AsBarssfan &Causiou] usbFad ahHSHemen Gpdb@n?
How many quaver pulses are there in a bar of the time signature, four dotted crotchet beats in a bar?

(1y 3 2) 6 3y 9 “4) 12

F 88mded ecdcds e@dced § 8desiDcs Eus B0 pfu son wcws’ Stilsl ndd ¢?
F anwerfléd fiGsumnist Goggflet &8 Hd:Censasny stapsnd #fluamen (e (NsienqheusnenBmisin 61517
Which of the following is the correct way of writing the key signature of the relative major of F minor?

b
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- . P !
m HBb * B o) . N2
I‘l") I[I {!? P II‘} 14 iy bl

C 88mded ‘G0 emid’ 9 Bl deodoun ‘BDwwid’ dw @) @ B, num pewst SDilsl 88 deza
@3 ¢?
C eowsnfled ‘afigrit BT oyarsl Guwmy e@zelsd ‘Wpwen’ s GuTEDSTGW. ssuheusnsabust Dibs
eroBmsn 61817 :
The ‘Leading note’ of C Minor is the same as the ‘mediant’ of a Major scale. Which of the following is the
scale?

(1) G Major {2y E Major (3) EP Major (4) D Major
gbedines »O¢d VU8 2-3 wo 5-6 &40 god culedisld 3o mes! vnm ecws? Joids p@m
desced ¢f
Hersumenansubpisht abs srbCsedish, eiaubyraean (panpuisd 2-3,5-6 9dbfl abaytisensdaLulsd GFAGTTsTs
Bms@Io?
Which of the following scales would have semitones between the 2™ and 3 and 5% and 6% degrees in its
descending form?

(1) Harmonic Minor Scale

(3) Major Scale

Melodic Minor Scale
Pentatonic Scale

2
&)

oBe®iSs 88nl dedcen guledifs w waBBeuld gad ¢ 00 arinde qEedrient wwn gt | -

8083 rp®m ¢?

annjGreafds mwen et@salsd  alLTELTefls,

etrawperenmeumuus a1abled sm L fnn’ Haiieng?

Which of the following is the interval between the supertonic and the submediant of a Harmonic minor scale?
(1) Perfect 51 (2) Diminished 4% (3) Augmenied 5% (4) Diminished 5®

Flbiguiei’ ey Slwienpmsslsniuisorer  sosuy  EemL Glsusti

B &@8mded 5888 gutio:d embded swm wepnsd JDidnd @ ¢?
B emwoswflstr Llsngiond Lyl iebeongdi LTsienmeusmsuipis o157

Which of these is not a Primary triad in B minor?
&

== B
8 D o®sh desteo oo 5O, E edDos Ba opdess
Bissit D Gopa erb@semsoll  LmBbGUTE, g
When you sing the scale of D major, the note g

(1) Doh (2) Fah 3) Te

@ 184E8

Bihs SOGUTIDTE  DMOWHHHBHI

would be,

(4y Soh

V-1 8o 80 amoedm c0ifis enid) ded #00n vvn sownsl $08s3 ped ¢?
V7-1 g enpsudCung ev&elLiuGh CFrafls Gomgst soaufb LeTamaisnauiBmet og?
Which of these notes is omitted in the tonic chord when V7 — 1 is written?

(1) Root (2) 3« (3) 5 @) 70

—
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e@® Dimsed Beddy Bod Bed 7
BeiaunbSngge0 aimmen FeolsOSB6 & siteen?
How many syllables are there in this sentence?
“Humpty Dumpty sat on a wall”

() 8 @ 9 3) 10 4 11

Deditnm 00 @i ctote wdn wrathe o= ¢?
@Cunallsit @ela@s Fwwrer SopdhCsul Hamsbamal wng?
Which oriental instrument sounds like the oboe?
(1) Esraj (2) Tampura (3) Horanewa (4} Nadesvaran

oD 66z J0i8s €00 nors Bedsies) e@818: pewO ¢7
Lsirewmensreuimisii s1afleh coeiimy sTOGUTEISBEIT STammILEH?
Which of the following consists of three notes?

o F 2) A (B) o @ tr

oE&mD Bedsiend
&EJerfiBT  SAEOLHIENMHLILE
The auricle is in the
(1) middle ear. (2) outer ear, (3) inner ear. (4) cochlea.

voD 8GRy WoedEE “egfensl @m ddin 8...." Bno gust Dxles! p@m0O ¢?
Heaumid BILShIsailed “LIGrower wenm Jehdsm Ge..” sl6iim UML) a5bE o fHsTEin?

In which of the following plays is the song “Premayen Mana ranjitha We....... sung?
(1) Kalagola (2} Sakunthala (3) Rajathunkattuwa {(4) Maname

oo Daime®sl Bund enedm 08 gust Dulest
ST HLeabhHams HHHFleBILGD Bl
Gajaga Wannama depicts the gait of the
(1) Horse. (2) Elephant. (3) Hare. (4) Monkey.

200B0EE ©08n e odn wielha som SHi8xs RO ¢?
BI_ShGeT0 LWSLBSSI TG Fnassmel Lsonmeansibulst og?
Which of the following instrument is not used in Nadagam?
(1) Flute (2) Harmonium (3) Maddala (4) Tabla

ego® Buis wewm Sewons Bo oytes
UCIrEATD @endbEnan 8 HIFaOTSE SIEHUIGSEHHE]
An example for Programme Music would be
(1) 1812 overture. (2) Clock Symphony. (3) Toy Symphony. (4) Moonlight Sonata.

uiOcHoD etdrinns Oles vwn EDidsl pe ¢?
@egl . Gaolsiierd syus isnosugl Lsiaimerarsuisi sig?
Which of the following is an Interrupted Cadence?
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21. #cedn et il ndsles! cono wensl 95 wdm medis &?
SiEBIT &8 Sewen LLSTLGSSHIsuG e sihs Sensbamel?
Which of these instruments will use the Alte Clef?
(1) Cor Anglais (2) Violoncello (3) French Homn (4) Viola

22, ‘@diluwsd’ COm eMWME woBmiwr Drtert mEcss ¢f
‘Caursbl_Fay @enen eRHTH Bens E@GenT Wiy’
Which of these composers did not write ‘Waltzes’?
(1) Schumann (2) Johann Strauss (3) Debussy (4) Chopin

23. acdetiBewit: xfes e®@D8s! @ ¢?
BeuBmish 1Bl @y IELMWT @yepib?
Which of these is an oratorio?
(1) Eine Klein Nacht Musik (2) Ercica
(3) Messiah (4> Lohengrin

24. B8 woBm weFtnn® wiem @O Bmo Ba wides
i ipsvas @enFs@p UTBL @@ UTLEOTES SSHOUISHESS)
A song by the Beatles would be
(1) You raise me up. (2) Flow Gently Sweet Afton.
(3) Yesterday. {(4) When the Saints Go Marching in.

25, »&ed @ dend du 080 con e of neg g ¢7
Sengl gburTensy STRGEBHINSHEG NLEETdenn BIoralsseal wrf?
‘Who built a theatre to perform his own operas?
(1) Verdi (2} Schumann (3) Berlioz (4) Wagner

26. eoinDidn sef P00 O R0 e e ¢?
OlFmenT L geimfed (L&HeoTeugl cpsuGloai’ efhs: GuMist Signoub? -
In which form is the 1% movement of a Sonata? )

(1) Binary Form (2) Ternary Form (3) Rondo Form (4) Sonata Form

-

27. Gewngdn Dindsl Dfens’ & 83xes’ vum wtns N8® emdetd ¢?
Waiteumd bl LNflellst @amerd g apedinflsy oiglmenaisvmsst LR &jssit @l sei?
Which of the following sections of the orchestra has the most number of players?
(1) Percussion section (2) Brasswind section
(3) String section (4) Woodwind section

28, 2308 oo o Bund enecies svn Si8sl @S5 ¢?
Ueieumeusmaimiel s1Heil psorb Geumsdl siv gpeiimy Ll eflewfléba Badmea?
Which of the following describes a Waltz ?

(1) AFrench dance with 3 beats in a bar

(2) AViennese dance with 3 beats in a bar

(3) ALatin American dance with 4 beats in a bar

(4) An Argentinian dance form with 2 or 4 beats in a bar

29. nuivm dodens sdxiesiert soum wecwyl O Juatds &f
Nedreu@sld 6tthed LU cpaimmais eroaufohdlar rbllE@n?
Which of the following positions of a triad begins on the third note?
(1) Root position (2) First inversion (3) Second inversion (4) Third inversion

30. &B oS Driest com weons’ dDi8s! no ¢?
sieu(heusHsUBHIAT 6h 65 b ismiosudl sigy?
Which of the following is a Lied?
(1) Clair de Lune {2y Who is Sylvia? (3) Elijah (4) Bolero

—
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TR QQS‘\,

emBsigusioE / ewaBemSins pewd i neg miBos Dules! sun SD8s) @ ¢?
Lsireuqnerseumsts GlaTe gusiii 6 / GLmalGurefs (psmpuisd erpGLIL L Hsh e1gy?
Which of the following compositions is written in Contrapuntal / polyphonic style?

(1) Moonlight Sonata — Beethoven (2} Sonatain D —Schubert

(3) Prelude and Fugue No. 1 — Bach {(4) 1812 Overture — Tchaikovsky

ed8edwst eni® dens’ B waficr Drled vwn wewsl SD8xsY ot ¢?
Deraumerarsubpisi CeuflCwagsst GUTsHLDL LWSTLIBSSU siteT HIed siE?
Which of the following compositions is in Variation form?
(1)  Handel — Harmonious Blacksmith (2) Beethoven - Minuet in G
(3) Chopin — Minute waltz (4) Bach — Minuet in G minor

Mo sdned cleeuos embded onn wonzd SDiBs! e ¢?
HefloupouaTsupmis moler Gevsulsh L] SEHETBE o157
Which of the following is mot a characteristic of modern music?
(1) Chromatic Harmony (2) Syncopated rhythms
(3) Unusual sound effects {(4) More than one melody at a time

Gordedeeifio odm wredhius emBBes swm I8! @ ¢?
Ueiienqpeusrsubishi Lgrelr Gurdry @enghbamel DsLOTHHE 61517
Which of the following is a mon-transposing instrument?
(1) Piccolo (2) Double Bass (3) Trumpet (4) Oboe

‘In a singing style’ Bocone @0 ewicm gl eag® v Sl 9@ ¢?
Mersumensnsubmisi In a singing style’ @er @enFenw CaisiILBSHMSBEL WISTUGESSIUGD BdbsHrelun] LD

o1’
Which of the following Italian terms mean to play ‘In a singing style’?
(1) Calando (2) Crescendo {3) Cantabile (4) Con Moto

36 80 40 80 5D galm swm € ¢ wdn Dedbe @ ver® od. v ¥ :
36 Qzm s 40 susnnurer sflenTdHEsT STUUCL Benall QUWITIENL SIgliteDL UIMES GlETemiLnet,
Questions 36 to 40 are based on the given extract of music.
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2 418 wolln deddds Sed» 8 o» dules’
syt (Geiten  @enall GLWTOL SEDOHHISTaT & Seug
The following music piece is in the key of
(1) F Major (2) B Flat Major (3) E Flat Major (4) G Minor

[ 685 20D Desd. / uk. 6 gl UTTHS /Seepageg
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37, 208 wdnm detis ah.q Rescd Rn@s ¢?
@bs Besl Gl o _sTsmLBGh o6urm erg?
In which of the following operas is this music extract?
(1) Fidelio (2) Carmen (3) Lohengrin (4) Magic Flute

38. cBo dediis gbumed ¢ ewlsins con SH8s? @ ¢?
BenFl QuuA st @pslulst o siten Gesr sdier: LI sisuheusmsuBmsT o1g?
Which of the following is the cadence at the end of the music extract?
(1) Perfect (2} Imperfect (3) Plagal (4) Interrupted

3%. @@ aas chmm me BuBmwasr »EGS ¢?
Shg Gemall GuwTleny i@l HenFdEensoEh] WInT?
Who is the composer of this piece?
(1) Mendelsohn (2) Wagner (3) Mozart (4) Verdi

4. 2 B wobp aeite Digmo me g eSon
STOULBeiten BenFll GLrujrlenl Bensds Gonewtgus Gsusd
The given music extract should be played at the following speed
(1) Veryslow (2) Atawalking pace (3) Quick (4) Very fast

[7 08 809 Oegls. / uds. 7 @i uniés /Seepagef/
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wBmw (audin) I 10
FRIES (Bwensusezsw) 1,11
Music (Western ) LI

2B (gesdiw) / sads (BusmsugBzsw) / Music (Western) 11
SGEDS oelmed oy 2O gdn aaoe B8nc 688 0hed B suanim.
e®® y&fm oprd BEno O MBS o8 wioio gui.
(pEeord aflemeyd@ Bogib preg ollanmsssnbgl BbHrelGabu slen_Gmen aUpSHs.
el a@daTar aflenl ssnen @b Gomfuisd wrsATBe apsiHsd CousmiGid.
Answer question 1 and four others on this paper itself.
Questions should be answered in one language only.

\

[ Bwoo gozme [ &GLed / Index No. ...

1. @

{ii)

(iii)

(i)

oo & g1 8 Om aedube OnS. Bl On eyl 8580 ¢oud du evd B8uwnn ecgxim.

B ST BaTET LN (pUpsmLBBST W, Ly Gemet] WFsalLBSEIE0E @ Gratl Saman Dsbets) geiimidh
G’ Qe senendF BaFfdbes.

The bar given below is incomplete. Add one or more rests to complete the bar.

A * *
A - 47
'{ ‘ I 1 | }‘ [ t,
MY, — ") O Ly &g I
e) | 4 * et 4

C o®ul do @t 88mded B 8desiDde o 88 emid O 8BS0 dod eee € o fedded Bowinm.
C Gupaflsy Qprafd enweanflar & HoBamsFangud sSigri Brpm’ Bensiu b Weallb @epred SILLE Gsien ebl s Geb

STUHHIS.
Wrile the key signature of the Tonic minor of C major and the leading note as a Minim in the given stave.

50¢ef ecm 2T ©© @ g, e eem gnd g nd BRedn! alcs 3@ 6D wodn meEtas »® moim.
et 22 1b @Usswreds sLLLULEET, 9 SBssT SGraiGs@limeful Bnbsd CeTail smpieudbed dApsoh
gadentdh GO 2 usFaméorsiempl LuwfBa.
Name an instrument where two reeds are bound together and the sound is produced by blowing through the
reeds which are held tightly between the lips.

FBecd on B 88e530ds omig B 88mded etnBmzid T emid derd 60 cwlesd 95 codFoolxst & o
B3edbed Eusim.

F &8enta, & HaCenday sydlwebenmil uwusiu@Gdhs B eowenfled 7 sugl Qumibdlaneiit. Garl Eed qpl Gimdlagei
g aifaisetsd Sriw Hsien el B0 eSS,

In the given stave write the Dominant 7% chord of B minor in semi-breves in root position using F clef
with key signature.

Download all Past Papers : https://booklh@&Rieicentiresb free/ past paperss 8
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(v) 16858 com ¢ ‘ool Byis ¢80 cbmo mg edns goed 83 wdnwgw B g 980 emice dm

& B8dedifewit B mdsis.

1685 @b 1mbEs Geurl i W adel’” siapsiu LTTS WHHH0 auTphS Ens SLdh@ar aapsiu LTLsowbTer
Cwmyerd geienmd GlaTaii @reLmilwurensu’ uwffas.

Name the oratorio which contain a popular chorus written in the Baroque period by the composer born in
1685 and who wrote “Water music suite”.

(vi} edsleth eni® derd 88ewid dn endowns’ Dudmd mdndm.
GLraGLT Gumbisd snulCsrrl. GlenenF FMmESWNTS sllauflsEHs.
Describe in brief the Episode in Rondo Form.

(vii) Buosemied ¢y emeds Bedm eoben 8 nd, do emic oo 80 #Dded alewd oS D» Acu® agws

s,
dwrGamelel apILGS dpameaudsd STemUUBGL Gursd @event GLWRL®G, MGl LWSTUGHEID Gurgl

eOaUfSHEET FhohHIEE giuBl unginisers nfiiGes.
Name the pedal on the extreme right of a piano and describe its effect when used.

(viil) ‘Dozazm ZoiB Bow afeq 0Oy @ wom. du PIBw ¢, w0ed: ¢ culx agwsd Douim.
‘puraan SO eeim UTLsnevd CETERIL BIL&GmEL QUUfiBs. oim BIFSSHUr  Disbeogl BT ST

slsiiugHamands SR TGS.
Name the drama which has the song “ Vasana Dineki”. State whether it is a Nurthi or a Nadagama.

(ix) ¥ #06 60 8D consl @ & g8 Pecd dod Bowm.
&B1p ST Paiten srvepmIBmer oibhd LIF @BBW sl Esiien HGearl Gsh aypsis.
Write the following notes in the same pitch in the given clef.

e i _—

o HLT L | )
FL 1 L f .Y 1 | ] -~
[ an WE N I ] I r d 1 ri
AN o o & CR—|

LY - - - . .-

(x) oom € g8 200 gimde m€ =d, 88 eudbnst O Bl b Dot Fuxlm,
&G HICN Feitent ervaly GeH_iOaist @ewert GUULE, oipa EeiBeuTagemen Gaibm UMb sUpEIS.
Name the given interval and write its inversion in the empty bar.

) [ |
il I | |
Z il | |
= i
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2. “(i)

(ii)

(i1)

Fadecd ewic, 8 8desiDced abisd mndsd g8 otie®rSd @85 desE o gredinea o adedines n@nd
@00 OE S Buslm. debid ewig eededinel s mostw.

F AGsml @emens uwieiuGsa, & HECensaflen mmeiig egnlisenerd Gerai@ amriGoreaids snwmy erobamsd
Eenenr pCyraEem, SbyrEsm (penpulst GETTFFFL Esv aupsus. abevfsrhd CFIhg QFSmeiehd ma @nids.
Using the F clef, write the harmoenic minor scale having four sharps in the key signature, ascending and
descending in crotchets. Mark semitones with slurs.

2Bulnd Sgonc 080 8 F 08mb 8 o500 swigy som S 4w o@cBud St wdiuls. yuiSe &l on
@000 S0 08 mJd i etdl emdd Sl 001 emil O ece Bu BOCE geed edud O ewee
odylies wdmim,

SUeyerT. 1gujush enmd @6l F emoemflsdr erbeupnusensmlt LwisiiuBhal 4 unfsensnd Gemamil Gol Gl msiiens
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Compose a 4 bar melody using the notes of F minor in Compound duple time. Complete the last bar with
the Tonic note as a dotted crotchet tied to a crotchet and a rest of correct value.
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Write in the G clef, the major scale descending and ascending of which the B flat is the Dominant. Use
accidentals.

2 g5 DOmOED e®iemiedimnes wifm =d8s] Bl® GO0 HU@reia monim.
HIULL (B6iTsn QFnTmEensde GlorCGsmErTs gatempl LWsEUBHS FhoHe CHFebLoTaEns oidHE&HS.
Write a rhythm pattern on a monotone to the given words.

Down yonder green valley
Where streamlets meander,
When twilight is fading,
I pensively rove,
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Sl Geien @enstl QuUUITTenL gabGLsl epelumidbd Gwsurd 1prush el GFHH e aIpEIS.
Rewrite the given extract an octave higher in the treble clef.
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SICILE (Feiten Glosvigemus stoaipld, GQrerdl. syadlwenimi a1 Syl Geiten enpb H&CarFambes eow Fums
HBens CHTHEI Sl ordad e eIIpHIS.
Rewrite the given melody with notes and rests correctly grouped according to the given time signature.
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Study the musical extract given below and answer the questions.
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(ix)

(2) @@® 3.8 Dedtic vDxs ol B O e ¢? (b) & ezt &5 8 On O piwim.

(2) @bs Besl Guuty absd & B CIMLRGADS? (b) sm wyapn & ool GiuwfiGs.

(a) In which key does the music begin? (b) Name the key in which the extract ends.

2 T P PR
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e®® .8 metted 088 Sderitdn Bund wosim.
@bs @asl Guuitiis: b AsCamsssny alaflbgs.
Describe the time signature of this music extract.

@@ mifc Chm @O cled, 8t 88 O Biideis 8868 eresde 88 1797 com Gig ed@ids goed
edmgon B88. udnumed »HE Hemil dexd yog doimed Busim.

Geginoeiul 65 Gemen sydba GLmendEGRiLemn 1797 @b phsaumorar GFmorsigd wisdhdlsn s b Ee
QmeuyTsd @bs Bred spSILLLE. s syb@eanfls GQuusny abGsry @b QUIGSSTer Gt HFled sIIpSHIS.
This piece was written by a Romantic period composer born in 1797 who was credited with creating the
German Lied. Wtite the composer’s name in the appropriate place in the score.

3 B2 2ol Dot 80 4 Om 2l O ey A ece B ©F gif eduies 8 nd, B O eews! noED.
3 oozl umfledphal 4 queim ung eeogulsy A aard @ElILLL Beiten CaLeiie @emerl GLWACE, &

Benend GBILLIGS.
Name the cadence used in bars 3 to 4 marked as A and state the key.

9 O 5 Do 8BS 10 B &0l & e B oces e 90 B eldslnn m® »d, B O agwst mdsim.
9 eyeumi Unfledmba 10 @ieg ury asnpuilsd B eend @ULILOLC Getsm GaL siierd Bemenl GLwifiC @, &

Bemend GHBHUIGS.
Name the cadence used at bar 9 to 10 marked as B and state the key.

3 0 b 50 ooyl i Py, simile ecne Bund woshm.
3 syeum UTT @pos Spreasien L), simde aap @pulimL silafsgs.
Explain the sign B, stmile given below bar 3.

=808 Seided 6015 B vt B8 oD O enldedil el Borls, ]
@bs Reoait Guyinfss Cynallsir & Esit afigiy CEI. @ GiFbleCaaTs eTPHIS. E

Write the leading note of the tonic key of this piece as a semiguaver.

@00 ©.8m Ao eeiheld edd SemB Diemae Pe gn o demil derd g Eomad vgens 6bf
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@hs @mrl Quulsu Gom Gy Guet @ Hansss Coempn. abGar] @el CUTGHSWIS SSEHIBE

ghn alsdhdlsd GRLEUT EengCaage Snean (LSS,
This music extract should be played at a moderate pace. Write the appropriate tempo indication at the correct
place in the score.

208 aeited ewic 1B eedBuel #00 meids ewdenst Bund wosim.
Bsmall QLTI LLSLBSSIUL Baten SiCrauleof ebeufit LGHLF Shbars alolflsgns.
Briefly describe the irregular note group used in the music extract.
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Sy’ Geirem Urflsd (5) @l oo’ Beiten LQFush ebLel @6v (pgeoTong 6L foist Genal
gensill Slein_Teustamsmsn @efraufl. Qg WemBLh epHis.

Invert the intervals of the given bar (5) in the Treble stave and name the first inverted interval,
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&Bp syl Geiten Geblsierd 7 eHDEIB. @ CHLeED G iGN Grmdensin. 7 eumeE GlHE.
Write the following cadences. Use the Dominant 7% chord in one of them.
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Perfect cadence in G minor Interrupted cadence in D major

528 eealud gusl BEad AwHuE ewigen 088 e@cle ulytiear norm. vigern edBewd, egil o
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GrtbBumr, GuAm, ent endded gaur @iUBsamsTl yrew Gosgdsd Cafds.

Complete the melody by adding an answering phrase in the same style. Add suitable marks of tempo,
phrasing and dynamics to the complete melody.
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Write out the following ornaments in full.
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e Soxlm, edi® geEm® swig com endd cSbsim.
* (1), (2),(3) s Syl Heten Gmm_ Gsodmtusener  elaufidegs. (4), (5) asm Geodssli (i Baien sroeM e
£ Gungpdhmioren Gmm wmeman  siapsws. 2 Brmosi Esobemssnent LWSLBEHS Gom smars  @iiiGs.
Describe the given chords numbered (1), {2) and (3). Under each of the notes numbered (4) and (5) write a suitable

chord. Indicate the chords using roman numerals.
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(i) € 218 oudly w.dn £$bd B08J 0By HodDet wiotmme moxm.
HrC Geiien EemiphCHw Beng adauprismst CLMESHSHL e sroaurtiEenTs GLomAGk T &HES.
Convert the given oriental notation fo western notation.
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(i) & @B 08 HoE »® 20, 6@ DS ewig oxlrn I 8D (chd) DLEnd wdsls.
Bieorknsseiiu Coembissl [Breensll QUM (G, S LUSTUBSSUILEGD LishGam FheTiuTmanaT (6flprdse)

eWleuif s b.
Name four Sri Lankan drums and describe various occasions where these drums are used.
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7. (1) & g1 odce wlglties mowis.
ST Bsitem Lhdenuwill | LTl ILiBaHdIs.
Complete the given paragraph. *
Ludwig Van Beethoven was a ........c.ccoiciiiiiiiiiiiionn, period composer born in ...l .
He was called the .......oooiiiiiinin e . He wrote .............. sonatas
and ... Symphonies of which the ................ona . Symphony has a chorus in

the last movement. He became ......................cee. at the latter part of his life.

(i) oo mSOE feo emich eom, 801 OB BE Buwdsl w1 ID p@m Dved mBst ¢8 wcwst mduim,
LsaIpld  ETe0EEnsT dpsenpd Qfatrls, oemean bl GaF YSEGUIHMmNLD DIl kb
ENa0E6T  sTaTLIenSHUD U IBs.

Select three of the following compositions and give the composer and the type of work,

Name of composition Compose Type of werk
The Trout Quintet

1
2. | Musicforthe Royal Fireworks
3. | The Hebrides Overture

4. | Rigoletto

(iii) eom Q&)ﬁf) 88mdr eensin.
UlsiraugneuemauByst sTensu@Lgnild apaiiibE slspL. sIpSIS.
Answer three of the following;

(a) Explain the term “transposing instruments”; naming two such instruments.
(b) What instruments are used in a String Quartet?
{¢c) Name two percussion instruments of definite pitch.

(d) Name three instruments found in the woodwind section of the orchestra and state the clef which each
one usually employs.
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